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Comprehension:

et anferm # o fafu= it uwa, s, <, &9, Some @R s % i @ gfeafmaeii B, B2 e
E3 H o 2 o1 faenfedi 1 Wem o = 391t § g% (M) 3R Afeen (F) faefedl s erm gt

T et H Ye 2T % MR W, S U8 MY 9w % I e

e ufaaifimTe § vnierT @1 2vr-ar faaror

wa wfeEfiranett & g o o faend

Ell El E2 E3
e | M:F | 9= | M:F | @& | M:F
wyRd | 480 | 2:1 | 500 |17:8 | 700 | 5:2
S| 1280 | 5:3 | 1440 | 7:5 | 1500 | 2:1
== | 1100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
®H | 1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
TS | 800 | 3:1 | 840 | 9:5 | 900 | 5:4
st | 650 | 16:9 | 728 | 3:1 | 750 | 2:1

SubQuestion No : 1
Q1 oferifirer B2 sttt & wfeen wfasnfel #1 s 51 s B3 8§ < 4 wfen sffe 5 den &

e fohe €2
1) 60:51
2 29:31
(@ 27:31
() 58:31
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Comprehension:
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=@ | 1100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
w4 | 1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
TS | 800 | 3:1 | 840 | 9:5 | 900 | 5:4
st | 650 | 16:9 | 728 | 3:1 | 7m0 | 2:1
SubQuestion No : 2
Q2 g e 2vi = frerem - afeaife B2 F o o 9o ey wRefirE o afeen R = gen ¥ ot
A fram %2
(1) 1724
(2) 1728
(3) 1732
(4) 1734
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Comprehension:
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TS | 800 | 3:1 | 840 | 9:5 | 900 | 5:4
st | 650 | 16:9 | 728 | 3:1 | 750 | 2:1

SubQuestion No : 3

Q3
(1) 4274
(2) 4308
(3) 4326
(4) 4334
Options 1. 1
2.2
3.3
4.4

we ufeeifrasti B1 9 B3 # facmse wfeen ufa sifidl =1 5@ gen faad €72

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Comprehension:
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TS | 800 | 3:1 | 840 | 9:5 | 900 | 5:4
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SubQuestion No : 4

Q4 oo B2 <im @ Wi = e i B3 3 swie & afeen s £ gen

sfuer ¥

1 120

(2) 124

(3) 128

(4 132
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
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Comprehension:
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== | 1100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
®H | 1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
TS | 800 | 3:1 | 840 | 9:5 | 900 | 5:4
st | 650 | 16:9 | 728 | 3:1 | 750 | 2:1

SubQuestion No : 5
Qs yfeiifren E1 H 9 § Afeen wfawfri = gen, afedifn g3 § spi 9 afeen wfawfeEi =10 9en g

(1) 40
(2) 36
(3 28
4 22
Options 1. 1
2.2
3.3
4.4

% THH &1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q.6

(L
(2)
(3)
(4)

Options 1. 1
2.2
3.3
4.4

The interactive society is based on integration of :

Multiple communication modes
Dual communication restrictions
Single purpose audience

Varied face-to-face options

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q7 Sfyge o (eirare i) % o ol R 4 (wiERe) ok sy § v Frefefad § @ S

7 #1=E 9 % e € w1 Fere e 2

4y
2
3)
4)
Options 1. 1

2.2

3.3

4.4

EEH TS (N,0)

HieE (CH,)

FEREREETE (HOwE.)
FEGITARIFEE (TA.UEHL)

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533
533(
533(
533(
Ans




Q.8

Which of the following devices are computer input devices only ?

(4)
(B)
(©)
(D)
(E)

Choose the correct answer from the options given below :

(1)

2

®)

(4)
Options 1. 1
2.2

3.3
4.4

DVD - R
Joystick
Plotter
Touch Pad
Microphone

(A), (D) and (E) Only
(B), (D) and (E) Only
(A), (B) and (C) Only
(B), (C), (D) and (E) Only

Question Type

Option 3 ID

- MC(
Question ID :
Option 11D :
Option 21D :

533(
533
533

: 533
Option 4 1D :
Status :

Chosen Option :

533(
Ans




Q.9

(1)

(2

(3)

(4)

Options 1. 1
2.2

3.3

4.4

Repression
Episodic memory
Consolidation

Retroactive interference

The process mostly completed within several hours, but which can last for years, which fixes
information in long-term memory is known as :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q10 oy e saR faefarfaa # 4 S wue o < g € i ol T-sTafae S 1 g

.
ey
@
@

4)

—

Options 1. 1
2.2
3.3
4.4

TeIEl W S € HifE Te 3 B

& vitde & aEifer o2 v weref &)
Tt e fre-wnven § wE A ¥
T TIEre € i 9% 957 ¥

Question Type :
Question ID :
Option 11D :
Option 2 1D :

Option 3 ID

MC(
533
533(
533

: 533
Option 4 1D :
Status :

Chosen Option :

533(
Ans




AN i 5 & %9 ST 3 FETTE SR ¥ SEE @ 0

(A) foam = sfermy awifeas & sifurm & 8iR wfew s §1

(B) siret nifora W fAguraT Ferspord 1 WHgH H Herdd Y Hd ¥ |

(C) TUH FHR F FAH F TF U TREEfFe T " Fl ATYeF HieT a9 |
(D) = drer o rferms Sifer 3 stferm ® s g

=1 feu o fasred ® ¥ W@ ST 1 = FIT

(1) 9@ (B) T (D)

(2) A (A), (O) TH (D)
(3) e (B), (C) T (D)
(4) A (A) T ()
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

MC(
533(
533
533(
533(

: 533

Ans




Q.12

erqu & frefeafiad Ul & FesRiie SET F1 TEEH Hifa

(A) 79 FhZH
(B) el WHA Tk FSIE FMH dren ke
(C) Wwifeswk 29
(D) @R fewm
(E) WH.9.3
= feu o fomredi H | @& AT F FIH HIIC
1) (A), (B), (©), (E), (D)
2 (B), (D), (E), (A), (O)
(3) (), (B) (A), (D), (E)
4) (D) (E), (B), (), (A)
Options 1. 1

2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533
533(
533(
533(
533
Ans




Q.13

1
2
€
(4)
Options 1. 1
2.2

3.3
4.4

st gfge=dt
st gfge=dt
TEre Gfae
FeR-afe a o

Toren uftwe (yra o) A ffafas § 9 g ¥ v fovafaes s g 1 yas fan?

Question Type :
Question ID :
Option 11D :

Option 2 ID

MC(
533
533

: 533
Option 31D :
Option 4 ID :

Status :

Chosen Option :

533(
533(
Ans




Q.14 Identify the sequence of words A-E that correctly fills the blanks in the following paragraph :

An operating system that uses windows, icons, menus and pointers for human - computer
interaction, is known as . Post-WIMP inter-faces found on devices like iPads, iPods
and mobile phone make use of technology that allows us to use our fingers to select
icons and menus. Post-WIMP interfaces allow us to use _ rotating and swiping
techniques. The technology that allows users to store documents, programs and data on Internet
is known as . Documents created using Google Docs are stored _on the
Internet and can be accessed anywhere and at any time.

(A) Touch Screen

(B) Cloud Computing

(C) GUI
(D) Remotely
(E) Pinching

Choose the correct answer from the options given below :
(1) (©), (A) (E), (D), (B)
(2 (A)(©) D), (B), (F)
(3) () (D). (O (E), (A)
4) (©.(A) [E) (B), (D)

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D

Option 21D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

MC(
533(

: 533

533(
533(
533(
Ans




O e § § #E B T §2

(A) T gf 3 € 59 98 99 21 iR Faa 1 snfiarnd vt 2
B) ot gfam & 3wk Frepd o1 9 w@d smaht duar fAuifa = €1
(C) Fa 9y gl #1 e sed iR feerd g 2 € |

(D) F2 @ i 1 et sme 3R fepd e 2 €
1 fou o foskredl ® @ W& AT 1 =9 HifC :

(1) %4 (A), () N (D)

) FFE (A), (B) 3 (O)

(3) e (B) &R (C)

) A (A), (B) 3R (D)

Options 1. 1
2.2
3.3
4.4

Question Type : MC(
Question ID : 533!
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 4




Q.16

(1)
2)
@)
4)
Options 1. 1
2.2
3.3
4.4

Simple random sampling
Stratified random sampling
Snowball sampling

Cluster random sampling

Which of the following types of sampling is likely to have maximum bias ?

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533
533
533(
533(
533
Ans




Q17 Identify the threats to internal validity associated with participants in a study.

(A)
B)
(©)
(D)

Choose the correct answer from the options given below :

(L
@
&)
)

Options 1. 1
2.2
3.3
4.4

Testing threat
Selection threat
History threat
Attrition threat

(A), (B) and (C) Only
(B), (€) and (D) Only
(A), (B) and (D) Only
(A), (C) and (D) Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q.18
Pure rain water is nﬂtura]ly :

(1) Mild Acidic
(2) Mild Basic

(3) Neutral

(4) Strong Acidic

Options 1. 1
2.2
3.3
4.4

Question Type : MC(
Question ID : 533(
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans
Chosen Option : 3




Q.19

T2 T Hifea w1 gt fasman €2
(A)  erfaefierd

(B)  TIfcrefieral

(C) eI

(D) SIgE9T

(E) fEehar

i< feu U foskedi § | Wal SO ol 997 Hife ;
() = (A), (B), (©)

(2) %= (B), (C), (D)

(3) = (O), (D), (E)

(4) A (A), (O (E)

Options 1. 1
2.2
3.3
4.4

Question Type : MC(
Question ID : 533(
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q20 gmiazEmATETAE?

(A)
(B)

©
(D)

20%, 10% T 5% = T T2 F HAGEA THFA T2 35% T

afg 12% TS 5% % < HTF FeI F G TH o% F T 209/- W AW T, T G F A oA

T 250/- %

Afg TF GHIER T 80/- % Sifthd Toa WS TR 5% 1 h0F 92 08, 7% F fomt oA T 75/- 8
U Haug fae T 35% & ke F2 @il 20% & < FHE 2 F W =R T 22/- §, 79 faa F

%o TR T 2200/- ¥

=1 feu Ty faeedi # 9 WE IO F A B0

4y
2
®)
(4)
Options 1. 1
2.2
3.3
4.4

A (A), (B) @ (O)
Fael (A) T ()
%A (B) T (D)
A (C) @ (D)

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533
533
533(
533(
533
Ans




Q.21

Ufeolf iR e foramr w1 e | | # g gafed 6 €2
(1) ¥ 21 IR 37 U0 - e feeF O el Ju

(2) H AR F - FerR YT

(3) UH B W AR - HAfeH 3% higed Hem

(4) U e - Affel =ifs sexeia

Options 1. 1
2.2
3.3
4.4

Question Type : MCC(
Question ID : 533
Option 11D : 533(
Option 2 1D : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 3




Q.22

ERIETA IR

“Indian cuisines are good” 1 Feag g § “MI CI FI GI” ferg 5 &
“They like Indian cuisines” %I Feag Fe § “Al LI MI CI” feran smm &
“People like Indian Chinese” &l Feag He # “PI LI MI HI” foran srar #
“They and people are best” %1 F2a5 I H “Al DI PI FI BI” feran St ©
‘good’, “Chinese’ Td ‘cuisines’ &5 %1 39 91 H ¥ F2ag o smom 2
(1) GLHITECI

(2) Al LITS FI
(3) MI, DI WS BI
(4) HI,CITE LI
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MC(
533
533
533(
533(
533
Ans




Q.23

Geii-1 9 gEii-11 =1 fHer wifs
-1 81|
(o ) ( Tl TS )
(A) e () S g
(B) Tasial (1) +E g3
(C) wifeey (IIL) 0 g
(D) g (IV) 379

=1 fou 1o fawredi § 9 W& SO & =939 Fife
(1) (A)-(I0), (B)-(II), (O)-(IV), (D)-(I)
(2) (A)~(ID, (B)~(LL), (C)-(IV), (D)-(I)
(3) (A)-(Im), (B)-(11), (O)-(D), (D)-(IV)
4)  (A)-(11), (B)-(IV), (O)-(I1D), (D)-(I)

Options 1. 1
2.2
3.3
4.4

Question Type : MC(
Question ID : 533(
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q.24 FEit-1 9 -1 1 e i

-1 -1
(T T wERe H qfe wawr) (Ffe fermmr)
(A)  ##### () T HA H goErS Hew B & S oy g # i 3
ExS G 8
(B) #VALUE! () <9 379 UF A F whS H fawifem wa € S fem
T I &R 2T FL
(C) #REF! (1) /9 TR O § 9= 3 T |/ T8 (TR) 8
(D) #DIV/O (lv) 5@ Y § 3ot e fowge dem 91, fF 9o =
yefea 7 T =1 = |

<4 fou o fomedi # 9 Wl SO 6 999 i
(1) (A, (B)HIV), (O)ID), (D)-(1)

(2)  (A)-IV), (B)(II), (O)-(1), (D)-(IT)

(3) (A0, (B-(IV), (C)-(11), (D)~(LT)

@) (AHIV), (B)-(D), (C)-(III), (D)~(I1)
Options 1. 1
2.2
3.3
4.4

Question Type : MCC(
Question ID : 533
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q25 Tersrel T T form § W W W) i 9T TS T § 1 H 6 9 e i Heeesie

HHE YR % o mewy oF €

(&)
(B)
©
(D)
(E)

41 fou o foredi # | W@ SO A 999 HI

)
@
@

&

—

Options 1. 1
2.2
3.3
4.4

ESIEREl

- aTfeehl
T T
EEREIGE
o iy 3

4 (A), (O) #R (B)
e (B), (C) 3 (D)
e (B), (D) 3 (E)
e (A), () 9k (D)

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533
533
533(
533(
533
Ans




(A)
(B)

©
(D)

(1)
(2
@)
(4)
Options 1. 1
2.2
3.3
4.4

Q.26 \fapch List - I with List - IL.

List -1
(Variable)
Dichotomous variable

Independent variable

Dependent variable
Interval variable

0
(I

()
(v)

(A)-(D), (B)-(1I), (CO)-(I1I), (D)-(IV)
(A)-(1ID), (BAL), (CF-(IV), (D)-(II)
(A, (B)-(IV), (O)-(1), (D)-(II)
(A)-(D), (B)-(LL), (C}(IV), (D)-(I)

List - II
(Description)
Is causally influenced by another variable

Where distances between categories are identical across
its range of categories

Has just two categories
Has a causal impact on another variable

Choose the correct answer from the options given below :

Option 2 ID

Question Type :
Question ID :
Option 11D :

MC(
533
533

: 533
Option 31D :
Option 4 1D :

Status :

Chosen Option :

533
533(
Ans




Q.27
(1

(2)

(3)

4)

Options 1. 1
2.2

3.3

4.4

With reference to computer networking, which of the following statements is true of an Intranet.

It is a network within an organization that uses Internet protocols and technologies.
It is a network that covers a wide area with the help of rented telecommunication lines.

It is a network where a computer is connected to the Internet and acts as a gateway for other
devices.

It is a widely available public network of interconnected computer networks.

Question Type

Option 3 ID

- MC(
Question ID :
Option 11D :
Option 21D :

533(
533
533

: 533
Option 4 1D :
Status :

Chosen Option :

533(
Ans




Q.28 Which of the following represent the nutrient contents of a water body at different levels ?

(A) Phototropic
(B) Eutrophic

(C) Mesotrophic
(D) Chemotrophic
(E) Oligotrophic

Choose the correct answer from the options given below :

(1) (A), (€) and (E) Only

(2 (B), (O and (D) Only

(3) (A), (B) and (D) Only

(4) (B), (©) and (E) Only
Options 1. 1

2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q.29

gL B R gl
23 4 6
m 3
5
@ 33
@ 2
59
@ 35
Options 1. 1
2.2
3.3
4.4

Fr= fou U wH H g9 S WM (?) W AiEfate S b aret! §&A1 1 I T

Question Type

Option 3 1D

- MC(
Question ID :
Option 11D :
Option 2 1D :

533
533(
533(

: 533
Option 4 ID :
Status :

Chosen Option :

533(
Ans




Q.30 According to the New Education Policy, 2020, who among the following must be at the centre of

fundamental reforms in the education system ?

(1
2)
3)
4)
Options 1. 1
2.2
3.3
4.4

Policy makers
Teachers
Industry leaders
Administrators

Question Type :
: 533(
Option 11D :
Option 21D :
Option 31D :

Question ID

Option 4 ID

MC(

533
533
533(

1 533(
Status :
Chosen Option :

Ans




Q.31

Tli-1 ¥ GEi-11 1 /el wifsm
geft-1 qHi-11
( e TTERieR qehery ) (T )
(A)  sEfvFar § g (I e
(B) HAIWIE #E (I)  aTeqeed
(C) faurs deham (L) TEfiTeRa
(D) AEHTEA &9 (IV) Sfeqol Smmee

= feu TTu fosredi § | A& SO F1 =TI FHC
(1) (AIV), (B)-(I), (C)-(IL), (D)-()
(2 (A)IV), (B)-(I), (C)-(II), (D)-(IT)
(3) (A1), (B)-(II), (C)-(I), (D)-(IV)
(4)  (A)IV), (B)-(IL), (C)-(1D), (D)-(T)
Options 1. 1
2.2

3.3
4.4

Question Type : MC(
Question ID : 533
Option 1 1D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q.32

FfeIfigd 1 5% o =12d U oA H SAafed i :
(A) =EI-9EI (HH2)

(B) =Hferd

(C) =%

(D) wifed

T fou 7o fawedi § 9 W& SO F =9 Fife

(1) (A), (B), (C), (D)

(2) (D), (©), (B), (A)

(3) (D) (B), (A), ©

4) (A), (B), (D), (©)

Question Type : MCC(
Question ID : 533
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q.33

(1
(2
22
(4

Options 1. 1
2.2
3.3
4.4

)
)
)
)

Traditional media age
Broadcast media age
Market media age
Second media age

The interactive technologies are responsible for the appearance of :

Question Type :
: 533(
Option 11D :
Option 21D :
Option 31D :

Question ID

Option 4 ID

MC(

533
533
533(

1 533(
Status :
Chosen Option :

Ans




Q34 et o T B SR = e e s o A ot @ ¥ = A srfe o

T ¥ sfaftad o 76§11 ST wA B FE adhen e e ¥ 2

4y
@
3)
4)
Options 1. 1

2.2

3.3

4.4

Thger e 2aH

AT WITHeFTd 61 SR
sAferanfia am=Em

T YA ()

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533(
533
533(
533(
533(
Ans




Q35 oy 4 @ i ik (uffe) ferr Al 10d TR @ e T e e § e

foremerai udl el o faem o arefees afmfea o 2

(A) g =g foemdy gramet

(B)

@
2

3)

4)

Options 1. 1
2.2

3.3

4.4

f& wien frerdr Hrmset

() W Wi f2 dies st f e

(D) Tz fe= foem 2 feoett

a1 fau U famed # @ Wl I WA B

FaA (A) 3R (B)
(A), (B), (©), (D)
e (C) ¥R (D)
A (A), () R (D)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q.36

Geii-1 9 gEi-11 =1 fHer =hifse
-1 81|
(S ) (W)
(A) 05x0.05x0.005x50 (I) 154.15125
(B) 5.55x%55.5%55 (1) 16941.375
(C) 5.05%5.55%5.5 (Ill) 1678.875
(D) 55%55x%555 (IV) 0.00625

= feu U ol # ¥ W@ 3¢ H 9949 HifaU
(1) (A)-(IV), (B)-(IIL), (C)~(1), (D)~(II)
(2) (A1), (B)-(1D), (O)-(V), (D)-(I)
() (A)(1V), (B)(ID), (O)-(I), (D)-(II)
4)  (A)ALV), (B)-(II), (O)~(1L), (D)-(I)

Options 1. 1
2.2
3.3
4.4

Question Type : MC(
Question ID : 533(
Option 11D : 533(
Option 2 ID : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans
Chosen Option : 4




Q37 g3 syt &-aiferm s 0 e 3 & o e ST & S wee ) e & = e S e
=4 % anfedl fere w7 X SuTeH, ST 51 39 ST STVl SR 9 F ifedt ©m | |

e W A S S R

M
@
3)
)
Options 1. 1
2.2
3.3
4.4

FER S
Hrg-gH]

ke 160l
He

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533
533
533(
533(
533
Ans
2




Q.38 Hifeferes =R % Twae # favafaered sHer e (Feir) faf@m 2018 % 7R fet saeae o o
frefafeaa § 9 faa wfiem Tmma 2R W fawafermem & o soms #1 o affs Sasafs &
ferdt ?

o)

2

3)

(4)

Options 1. 1
2.2

3.3

4.4

62%
34%
48%
18%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q-39 T A T i 370 A 42 96 ¥1 AfE 36 I F Ed 3G 9 8 (372) AU g 31 9e H it

B & e T i ST 40 9 B S ¥ WHE W WA | 3ufee Afien o Hen san |

)

2

3)

(4)

Options 1. 1
2.2

3.3

4.4

17
16
18
20

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




QA0 fferfan wrfi (7) @i T faeeT (o) AT0 S2RE F) S A % OTH F wed ww A swEten

HIfeTT |
(A) o=37 =20
(B) o=43, 7 = 25
(C) 0=52 % =35
(D) o=61, % = 40
= fau U fosked] # | W ST =TT RS
1 (A), @B, ©) D
(2 (B (Q) (D), (A)
(3)  (©). (D), (B). (&)
@ D), (©) (A B
Options 1. 1

2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q.41

forfesr yra # et Siferer gome =1 wsifo =61 Fersrfoes w9 8 o
(A) foafaamem &

(B) e 3AF MY

(C) < forar =kt wfafa

(D) foiem 9Rwg

(E) HrestiTes a9 o1 faum

= feu Tu faekedi | | W& I H TG HioIC
(1) (A), (©). (D), (E), (B)

(2)  (B). (B). (O). (A), (D)

@) (©.(A). (D), (B), (B)

4) (D), (E), (B), (O), (A)

Options 1. 1
2.2
3.3
4.4

Question Type : MCC(
Question ID : 533
Option 11D : 533(
Option 2 1D : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 2




Q42 \Which of the following are true about sound ?
(A) 10 decibel (dB) increase in sound is equal to 10 fold increase in sound intensity
(B) 20 dB increase in sound is equal to 20 fold increase in sound intensity
(C) Loudness is the human perception of sound intensity
(D) The audible sound range is between 20 Hz to 20 kHz
(E) Sound below 20 Hz is called ultrasound while above 20 kHz is called infrasound
Choose the correct answer from the options given below :
() (A), (B) and (D) Only
() (B), (©) and (D) Only
(3 (O, (D)and (E) Only
(4) (A), (C) and (D) Only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 1 ID

Option 21D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

MC(
533(

: 533(

533(
533(
533
Ans




Q.43

Teit-1 § F=i-11 1 e =i
-1 Te-11
( TEETHT BFE GEAT ) ( fawrar)
(A) T8 () FTIH fo
(B) I 9 () =R fagm TR amfee
(C) =7 10 (uny e fagm
(D) = 11 (1v) siifoe fom @ik gesht ferqm

= e Ty feredl & | W& IO = Ff
(1) (A, (B)-(ID), (O)-(IV), (D)-(1)
(2)  (AD, (B)-(II), (O)-(L), (D)-(IV)
(3)  (A)-(Im), (B)«IV), (O)~(1D), (D)-(I)
@) (A)-IV), (B)-(ILD), (C)-(1), (D)-(II)
Options 1. 1
2.2

3.3
4.4

Question Type : MCC(
Question ID : 533(
Option 11D : 533(
Option 2 1D : 533(
Option 3 ID : 533(
Option 4 ID : 533(

Status : Ans

Chosen Option : 4




Q.44 In an online course, a teacher wants to organize weekly readings, quizzes and discussion forums
for students. Which of the following platforms would be most suitable for managing these activities ?

(A)
®)
(©)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2
(&)
(4)
Options 1. 1
2.2
3.3
4.4

Schoology
Blackboard learn
Zoom

Canvas

Moodle

(©), (D) and (E) Only
(A), (B) and (C) Only
(A), (B), (D) and (E) Only
(C) and (D) Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans




Q43 A1 | -1 1 e wife

i1 gEHi-11
(T T ) (=Fuf)
(A) wefswa () T%a &Y FH gfaEfd & fau wfeaaet e
(B) HrSHIEG HATHEA () \FEArEseR & wia /e 1 6
(C) TR TH (I11) T wifear safwr w1 dfesia e
(D) @ (IV) ASHEE T8F | IS H 8eHl

= fou o fosmedi § 9 @& SO 1 =599 Ff
(1) (A)-(D), (B)-(ID), (C)-(II), (D)-(IV)
(2)  (A)-(1D), (B)~(11D, (O)-IV), (D)-()
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(IT)
4)  (A)-(IV), (B)-(I), (C)-(I1), (D)~(III)

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

MC(
533
533
533(
533(
533
Ans




Comprehension:

Freferfaa ey &t eargdes few ot wvet & s i

fersirraen wHe Siem ® 9ol Heayu ofafy €1 siodl J 30 W Sied % ahd ot Fe siad
st 3 TRy e % W H At R 1 R v e v Uy’ & o e
forent e1ef Bram € ¢ wftoeEar oo fomfaa &' | AR J S THE T SHE S e & €
FS HAEHNTE 55 Sad ok HeRifa—=Fra & 9 H GG 90 © | 59 Heifaehra 1 a1 T el &
YT G HAT B TE el T R Sk F oe 5l srafy 2§ 3wl =8 fRvieen
(FFUS) Fel S

T, SfHeE % SHOR iRy 98 FeEe © 96 Aok R ARl gFfae B 9, qeEs
w9 Y, grofeeh ®9 Y & e w9 g s O ageka # el ded €

SFTETHH o SN, ToRaerEen e ST 12 99 & ST ST 3 20 9 1 311Y & =14 &1 @ty el
T ToruTeEen 1 YEaT <9 F1 WAfeRE - aTfe feafadt 3 SR W STenT- ST WEhd H STenT- 3T
Bt &1 59 srafu ¥ =t & gl foermTere s § weerg gited 2 # )

SubQuestion No : 46
| iR’ v o e #
(1) WH &< & T
(2) FUA H WA
(3) Uil i AR F&T
(4) hfasraramt gfen & forfam

Q.4

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 ID

Option 31D :

Option 4 1D :

Status :

Chosen Option :

MC(
533(
533

: 533(

533(
533(
Ans




Comprehension:

Frefeafiea Ty i eargEe ufen o9 weet & I St

FoRviRrerer wa Sied # ged Teeqy safd ¥1 o 3 39 9Ee Sied % 96 SN e S
srafy % Heeqd FordE % w9 H aftfd frm &1 frvinrewen veg gAE weg uEendy’ | fomn mn
forment el ran € ¢ oftyeerr oo foerfoa 2 R 3 TEg-wEE wosEe o gt & €
Fe AR 30 Sied & Gehifa—Fel F w9 § uftenfad #3159 Hehifamra W a=a e uitEdHl @
SV U AT & | A STafy S IR ek % o st @t € o weft-smed 3 Frvikmen
(TS ) el @

Tl Sfes % STER V THORER 98 Fews © 99 ooh W aefRdl gFfas B9 ¥, e
w9 Y, growfee B9 H W 9 9 § o0 ¥ Teenar # @ daed €

TR o SR, ferirrereen die 92y 12 ad § oy siy 3 20 9 1 oy F i i ety
B foruireen <1 wHama S0 1 amfeer - snfeder feafadl % emim W ovenT-siert dfa § sfer- e
Bt &1 TW o7afy ¥ =afa % goft faermrer s § geeg aitedy @9 §

SubQuestion No : 47

QAT foroinrereen ¥ daiy 0.3, SRfaee 7 wRemn Frefafes 21 9 F0 2 -

(1) U ST WHRTE €Y 4, e €9 8, amifes w9 8 o) wifer w1 3 a9 § aEeed # ei
Rl

() Tweir, =1 ot & 3 S e srten Sefifas % W e u faan €
(@) TFR s AT Toa 1 |wef @R e | w9 STeiEr AT T
(4) FEE I1eT He H @ R Fe T THemtE gE e e €

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

MC(
533(
533(
533(
533(
533(
Ans
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st 3 TRy e % W H At R 1 R v e v Uy’ & o e
forent e1ef Bram € ¢ wftoeEar oo fomfaa &' | AR J S THE T SHE S e & €
FS HAEHNTE 55 Sad ok HeRifa—=Fra & 9 H GG 90 © | 59 Heifaehra 1 a1 T el &
YT G HAT B TE el T R Sk F oe 5l srafy 2§ 3wl =8 fRvieen
(FFUS) Fel S

T, SfHeE % SHOR iRy 98 FeEe © 96 Aok R ARl gFfae B 9, qeEs
w9 Y, grofeeh ®9 Y & e w9 g s O ageka # el ded €

SFTETHH o SN, ToRaerEen e ST 12 99 & ST ST 3 20 9 1 311Y & =14 &1 @ty el
T ToruTeEen 1 YEaT <9 F1 WAfeRE - aTfe feafadt 3 SR W STenT- ST WEhd H STenT- 3T
Bt &1 59 srafu ¥ =t & gl foermTere s § weerg gited 2 # )

SubQuestion No : 48

Q48 Cergirerereen % =i # Freforfian ot # @ F-T1 Ho T §7
(1) TervirmeEen 1299 =i & ¥ omen aRfs 20 99 #1377 F oiE F1 eEfy S T
(2) = gfaaETi 98 F g © o firmeTen #a TRy 2 T
(3) TRuiR, fagm ol wfor it gwEafEl # 5a = F e e €
(4) Torvmreren ® F1$ I SR TR it &l e ¢ |
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D
Option 4 1D :
Status :
Chosen Option :

MC(
533
533(
533(

: 533

533(
Ans




Comprehension:

Freferfaa ey &t eargdes few ot wvet & s i

fersirraen wHe Siem ® 9ol Heayu ofafy €1 siodl J 30 W Sied % ahd ot Fe siad
st 3 TRy e % W H At R 1 R v e v Uy’ & o e
forent e1ef Bram € ¢ wftoeEar oo fomfaa &' | AR J S THE T SHE S e & €
FS HAEHNTE 55 Sad ok HeRifa—=Fra & 9 H GG 90 © | 59 Heifaehra 1 a1 T el &
YT G HAT B TE el T R Sk F oe 5l srafy 2§ 3wl =8 fRvieen
(FFUS) Fel S

T, SfHeE % SHOR iRy 98 FeEe © 96 Aok R ARl gFfae B 9, qeEs
w9 Y, grofeeh ®9 Y & e w9 g s O ageka # el ded €

SFTETHH o SN, ToRaerEen e ST 12 99 & ST ST 3 20 9 1 311Y & =14 &1 @ty el
T ToruTeEen 1 YEaT <9 F1 WAfeRE - aTfe feafadt 3 SR W STenT- ST WEhd H STenT- 3T
Bt &1 59 srafu ¥ =t & gl foermTere s § weerg gited 2 # )

SubQuestion No : 49

" Frvirreren’ W #1 St Frefras o g
(1) wfead

(2) FAH (Uiw) |

(3) HEFIH

(4) HAHE

Q.4

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 ID

Option 31D :

Option 4 1D :

Status :

Chosen Option :

MC(
533(
533

: 533(

533(
533(
Ans




Comprehension:

Frefeafiea Ty i eargEe ufen o9 weet & I St

FoRviRrerer wa Sied # ged Teeqy safd ¥1 o 3 39 9Ee Sied % 96 SN e S
srafy % Heeqd FordE % w9 H aftfd frm &1 frvinrewen veg gAE weg uEendy’ | fomn mn
forment el ran € ¢ oftyeerr oo foerfoa 2 R 3 TEg-wEE wosEe o gt & €
Fe AR 30 Sied & Gehifa—Fel F w9 § uftenfad #3159 Hehifamra W a=a e uitEdHl @
SV U AT & | A STafy S IR ek % o st @t € o weft-smed 3 Frvikmen
(TS ) el @

Tl Sfes % STER V THORER 98 Fews © 99 ooh W aefRdl gFfas B9 ¥, e
w9 Y, growfee B9 H W 9 9 § o0 ¥ Teenar # @ daed €

TR o SR, ferirrereen die 92y 12 ad § oy siy 3 20 9 1 oy F i i ety
B foruireen <1 wHama S0 1 amfeer - snfeder feafadl % emim W ovenT-siert dfa § sfer- e
Bt &1 TW o7afy ¥ =afa % goft faermrer s § geeg aitedy @9 §

SubQuestion No : 50

Q.50 3
Fferal 3 fersiTeTen # ger sieq * Fefafag R a#1 €
(1) I F
(2) T %G
(3) = F
(4) HaHE
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 ID
Option 4 1D :
Status :
Chosen Option :

MC(
533(
533(
533(

: 533

533
Ans




